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B(4;-2) — f(4) =-2
C(8:4) — f(8) = 4
D(11;5) — f(11) = 5

F(13;2) — f(13) = 2
K(16:-2) — f(16) =-2
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f(12) =2 , f(8) =72 ,f(7) =7 ,f(2) =2 ,f(14) =2 .R
f(?2)=-2 ,f(MH=2 ,f(?)=-1 ,f(?)=5,f(?)=1 .2
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f(8)=2 , f(7)=-1.5 , f(2)=4 , £(14)=0
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£(16)=-2 1 YOY WoRr 139 ,L(16:-2)
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£(8)=2 , f(5)=-1 , f(9)=5 , f(18)=1
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g(5) =7 9% .g(x)=2x+3
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x=5=g(5)=2-5+3=13
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A(=-3) ,f(0) ,f(=-2) ,f(3) ,f(1) ,f(-1)
OIRAN 09PN X AR IRSD A
f(x)=3 ,f(x)=6 ,f(x)=8 ,f(x)=7 ,f(x)=5
5:3:5:5:3:3 (R :Mwn
-1<x<1;-4,4;-5;-4.5; -3<x<-2,3,5 (a2
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5
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1 ) 5.6% OIRAN 09PN X AR IRSD A
5 8(0)=4 ,g(x)=-2 .g(x)=0 ,g(x)=1
1:4;4;2 (R :DwnH
3<x<4; -5<x<-3;-6,-1;-6.5,0,5 (2
£(x)=2x-5 NNON ¥ —2Y HIRINKDN NNIPY NN
A(-4) ,f(=-2) ,f(1) ,f(0) ,f(3) :yvavn .R
AWRID X AR RSN A
f(x)=-12 ,f(x)=9 ,f(x)=0 ,f(x)=14 ,f(x)=5
-3.5:7:2.5:;9.5;5(a -13;-9;-3;-5:;1 (xR :2Mwn
h(x)=x2-3x+2 DADN M-y HIRINNH NNIPY NN
.h(0) ,h(4) ,h(-2) ,h(1) Hawn .R
AWRID X AR RSN A
.h(x)=42 ,h(x)=6 ,h(x)=12 ,h(x)=0
8§,-5:4,-1;5,-2:2,1(a 2:6:;12 ;0 (R :awn
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